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1. Choose fhe correct answer from the
following : 1x4=4

(a) When acetamide is converted to methan-
amine, the name of the reaction is

(i) Curtius reaction
(i) Michael reaction
(iij) Hofmann reaction
(iv) Hinsberg reaction
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(2)
(b) Whj h
al'or:::xati of the following
€ compoungp 1S not an

) Furan

(H) Pleole

() Piperidine
fiv) Pyridine

(C} wthh one out
an alkalpjqgp

Sethe following is not
() Nicotine
(%) Ephedrine
154 Adrenalip
() Quinine
& How many i
- diterpenes OPrene units are el
) 1
i) 2
(ii) 3
fiv) 4
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2. Answer any four of the following questions :
2%4=8

(a) How will you convert aniline into
m-dinitrobenzene? Give the chemical

equation.

(b) Discuss the basicity of 1°, 2° and 3°
amines in aqueous systemi.

() Out of pyrrole and furan, which is
more aromatic?

(d) Thiophene is more aromatic in nature
than furan. Explain.

(e) What is the difference between terpenes
and terpenoids?

UNIT—I

3. Answer any three of the following questions :

3x3=9
(a) Discuss the influence of nitro group
upon the basicity of substituted
aniline. 3
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3° amineg i
) Com
Plete the following reactio
ns
() Neni ol
N_mtroso— N-methy] ili :
methylange aniline from

1] i
() Benzoic acid from, anilin
iline

(d)  Complete the

f :
(Bny thr ee) : Ollowmg reactions
i) cH ' i
3COCH,CH, + oy 0+ FEe
2V * (CH3)yNH ——>?

o N5>Ql
(i1) @/ 2 3
H .
by
@/ P05
NH,

(iti)
H
LOW temp_ .')
(iv) @/ Ny g,
* CHcl, _K@__} -
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UNIT—II
4. Answer any three of the following questions :
3x3=9
(a) Complete the following reactions
(any three) : 1x3=3
(i) @:O Pd—C or Se > @
Tetralin
(i) A e S o
AcOH
Naphthalene
OH
7
(i) 05
Q.
a-Naphthol
OH
Anthracene
NO,
Picric acid

(b) Explain why, electrophilic substitution
of naphthalene takes place mainly at
a-position (C-1).
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() ﬁow will
you co (iti) Complete the following reactions :

following? MVert any two of the
1%.x2=3 1x2=2
(i) Naph : 1 s
Phthalene into Decalin ; (1) O i
(H} An.thra(:ene Into : i “NNi
anthracene 9-formyl- |
(i) P @ | \ +cHo+HO ——>?
henanthrene intO d]ph » d | S
enic aci i
(d) Describe the , (iv) Convert the following : 1x2=2
Sulfl’honation and OnenFtatjon of : (1) Pyrrole from furan
acylation : : y _
Ylation in naphhajene e Cr?‘f/m ol (2) Pyridine from piperidine
: 4x2=3 "1
: (d) Pyridine, though aromatic like benzene,
can undergo nucleophilic substitution
UNIT—11 easily, while benzene cannot. Explain. 2
S. (a) Fﬁran S ' | () What happens when furoic acid is
#1702 Ole and | o oD
Sy thar Pyridine thEmphene are less ! heated up to 200 1C:208 4G .
* EXplain, 2
(b) Wh
I‘Saatt Dappens UNIT—IV
S S e
sunlight (py)p onhydride under ' |
2 6. (a) What are alkaloidal reagents? 1;
(¢) An
Swer any three of th ; (b) Explain Hofmann elimination and
) e following Emde degradation. How will you /
Prepare Pyrr 2%3=6 . differentiate between these two? 2
G S ole from acetylene.
/ What p ! Or
treateq ;iiens \.Vhen furfural ig 0 i oo ) o bl ito
sodium acetic anhydride and How' will you convert mico
24P/1280 GSTare : hygrinic acid?
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(8)

. : ine
(<) How wil you establish that in mcoﬁnd
N-methy] Pyrrolidine ring is attache

i ia its
o pyridine at  position-3 via i 9
U-positionp

7. (a) What s S0

(b) Establish the

2
its Synthesig
Or
Discuss the Structure of ¢-Terpineol
(¢) How Wwill yoy Synthesjzea of the following 9
(any one)?

i) a-T;rpineol from O-pinene

(i) Nero] from Nera
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